ECO 150, Winter 2022, Exam #1

Instructions

1. This exam consists of thirteen questions. Answer them all. You are encouraged to use the

models from class (especially supply and demand) when formulating your answers.

2. Some questions are open ended. You will be graded more on the quality of your explanation than
your specific answers. On “true/false” questions, for example, answering only “true” or “false” will

receive no credit, even if correct.
3. Do not just copy from the course materials. Doing so will receive no credit.

4. This is an open note exam. You may use your notes, the textbook, and all course materials from
the website. You may use electronic versions of these materials as well. You may not, however,
use other materials, access the internet for any reason besides obtaining the allowed materials, or

solicit help from any other person while taking this exam.
Please sign the following statement:

In completing this exam, I did not access any online resources besides the approved course materi-
als, the textbook, and my own notes, nor did I communicate with any other student or person about

this exam. I understand that doing so would be a violation of the Student Conduct Policy.

Sign: M

Printed Name: K’ 2 T/



1. Consider a potential a carbon tax. Discuss how scarcity relates to this policy debate.
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2. What tradeoffs exist in the decision to enact price ceilings on rental housing?
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3. What causes economists to disagree over whether a higher minimum wage is good or bad

policy?
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Consider the market for electric cars. Assume that both firms and households are price takers and

that they have full information. Note that table provides fotal cost and utility, not marginal.

Table 1: Market for Electric Cars

Units | Total Cost | Total Utility { 4 (. ] MU, A/
100 20 | 20 "%"‘hj&?’ 127 oi
200 50 350 30 /50 | a2zo0
300 80 470 30 |/A0 /70
400 120 50 |yo |09 [/70
500 170 650 S50 g0 /50
600 230 710 60 | 6O /130
700 300 760 70 |So 120
800 380 800 30 & O /] O
900 | 480 830 /OO 30 /eQ
1000 | 600 80 120 | so 50

4. True or False. The supply curve for electric cars is upward sloping because the evidence shows

that all supply curves, in all markets, have this shape.

Fm/jcl 7/)/\5 Suff"/f Curvl fS up{,‘/d/ ‘( S'/o‘p,-}lj AC)C “4u 5¢€

h’“/j;'ﬁ‘j CQS‘/ V&9 /l’l(,/éff_f/'/l\j_ gb’\,/ ]IA/J /s }70/ /AC

(..qfc, in p\,f', I”"‘fr/fe?{5~



5. Graph supply and demand. Solve for the equilibrium price and quantity.
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6. Suppose that the price of gasoline increases. Explain how this will likely impact the market for

electric cars. Note that there is not a single correct answer and your scores will depend on your

explanation. [Hint: Make your assumptions very clear].
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7. Suppose that the price of electric cars falls from 100 to 80. Calculate the price elasticity of

demand.
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8. Suppose that average household income increases by 20%. As a result, marginal utility rises
by 70 for all units. Show what happens to the equilibrium price and quantity. Also state whether

electric cars are a normal or inferior good.
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9. Would a subsidy for electric car suppliers improve efficiency (the sum of consumer and producer
surplus).
postie

_Z# d({pﬂn,!j' 2z [ jé?/(’z IE o Cx‘é.rnq_ /:// ) WA’/C

the e 0"0 9 Eb.’f Prav;glef o /)Mf/{_ /j’ﬂ,;e‘ﬁ/ Céw?r-

6057( or A,‘) /)t’/‘ U{,Z// )J '/A!n A a//afafa ,-,',,é(, s2 G’./€

S*uésfzﬁ
Sagjfj?/ (,C,A/,( ;eﬁé,c @\(,7(],'(_,‘!,, v }3 2
/me’) the P'f"’“’L" Y 0‘0/4/05
)

Qo /‘ 5u£ﬁ/é o 1A

D ( ril/a [ﬁ)
0(4./;1,«0/- Q!. ~ P

o Q, G
10. Why is having a large number of households in the market important for our model of supply

and demand?
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